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Answers

1. 1
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17. 4

18. 0

19. 3

20. 2

Use multiplication rules to determine the missing remainder for each problem.

1) 1,199÷2 = 599 r     1      2) 93÷10 = 9 r     3      

3) 96÷5 = 19 r     1      4) 125÷5 = 25 r     0      

5) 568÷5 = 113 r     3      6) 78÷10 = 7 r     8      

7) 2,750÷2 = 1,375 r     0      8) 453÷5 = 90 r     3      

9) 113÷5 = 22 r     3      10) 190÷2 = 95 r     0      

11) 7,447÷10 = 744 r     7      12) 917÷10 = 91 r     7      

13) 28÷5 = 5 r     3      14) 58÷2 = 29 r     0      

15) 986÷10 = 98 r     6      16) 240÷10 = 24 r     0      

17) 2,774÷10 = 277 r     4      18) 358÷2 = 179 r     0      

19) 5,673÷10 = 567 r     3      20) 132÷5 = 26 r     2      
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